
Combining Images 
 
Complete the following Pyret expression to produce this final image: 
 

 
 
 
overlay( 
  overlay( 
    overlay( 
      overlay(star(50, "solid", "white"),  
        circle(45, "solid", "darkblue")), 
      circle(60, "solid", "darkred")), 
 
 
     _____________________________________,  
 
 
 _____________________________________ 
 
 
 
Look closely at your closing parentheses: how many do you need? Mark each 
parenthesis you added with the number of the opening parenthesis to which it 
corresponds.  
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2 
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4 5 5 

6 6 4 

7 7 3 


